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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) narjmWu gd©àW_ AnZo àíZ nÌ na Zm_m§H$ A{Zdm ©̀V… {bI|&

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) g^rg^rg^rg^rg^r àíZ hb H$aZo A{Zdm ©̀ h¢&

All the questions are compulsory.

3) àË òH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m _| hr {bI|&

Write the answer to each question in the given answer-book only.
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4) {OZ àíZmo§ Ho$ AmÝV[aH$ IÊS> h¢, CZ g^r Ho$ CÎma EH$ gmW hr {bI|&

For questions having more than one part, the answers to those parts are to be
written together in continuity.

5) àíZ nÌ Ho$ {hÝXr d A§J«oOr ê$nmÝVa ‘| {H$gr àH$ma H$s Ìw{Q> / AÝVa / {damoYm^mg hmoZo na {hÝXr ^mfm
Ho$ àíZ H$mo hr ghr ‘mZ|&

If there is any error / difference / contradiction in Hindi & English versions of
the question paper, the question of Hindi version should be treated valid.

6) àíZ H$m CÎma {bIZo go nyd© àíZ H$m H«$‘m§H$ Adí¶ {bI|&

Write down the serial number of the question before attempting it.

7) AnZr CÎma-nwpñVH$m Ho$ n¥ð>m| Ho$ XmoZm| Amoa {b{IE& ¶{X H$moB© a’$ H$m¶© H$aZm hmo, Vmo CÎma-nwpñVH$m Ho$
A§{V‘ n¥ð>m| na H$a| Am¡a BÝh| {VaN>r bmBZm| go  H$mQ>H$a CZ na "a’$ H$m¶©' {bI X|&

Write on both sides of the pages of your answer-book. If any rough work is
to be done, do it on last pages of the answer-book and cross with slant lines
and write ‘Rough Work’ on them.
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IÊS>> - A

SECTION - A

1) {ZåZ ~hþ{dH$ënr¶ àíZm| ‘| go ghr {dH$ën H$m M¶Z H$a CÎma nwpñVH$m ‘| {bI|o& >

Choose the correct option from the following multiple choice questions and write them
in the answer-book.

i) g~go N>moQ>r A^mÁ¶ g§»¶m h¡- [1]
A) 5 ~) 4

g) 3 X) 2

The smallest Prime Number is -

A) 5 B) 4

C) 3 D) 2

ii) EH$ [ÛKmV ~hþnX Ho$ A{YH$V‘ eyÝ¶H$m| H$s g§»¶m hmoVr h¡ - [1]
A) 1 ~) 2

g) 3 X) 14

Maximum number of zeroes in a quadratic polynomial is -

A) 1 B) 2

C) 3 D) 14

iii) ¶{X  2x + y = 6 hmo Vmo BgH$mo gÝVwï> H$aZo dmbm ¶w½‘ h¡ - [1]
A) 1, 2 ~) 2, 1

g) 2, 2 X) 1, 1

The pair satisfying 2x + y = 6 is -

A) 1, 2 B) 2, 1

C) 2, 2 D) 1, 1

[ Turn Over
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iv) x2 – 25 = 0 H$mo hb H$aZo na x H$m ‘mZ àmá hmoJm - [1]

A) eyÝ¶ ~) 25

g) 5 X) 5

What will be the value of x to solve equation x2 – 25 = 0?

A) 0 B) 25

C) 5 D) 5

v) {H$gr g‘mÝVa lo‹T>r H$m àW‘ nX 2 Am¡a gmd© AÝVa 3 hmo Vmo g‘mÝVa lo‹T>r hmoJr? [1]

A) 2, 5, 8, 11 ....... ~) 2, 6, 18, 54 ........

g) 2, 4, –1, –3 ....... X) 2, 2, 3, 3, 4, 4 .......

What will be the Arithmetic Progression if first term is 2 and common difference
is 3?

A) 2, 5, 8, 11 ........ B) 2, 6, 18, 54 .......

C) 2, 4, –1, –3 ........ D) 2, 2, 3, 3, 4, 4 .......

vi) g‘mÝVa lo‹T>r Ho$  n nXm| Ho$ ¶moJ’$b H$m gyÌ h¡ - [1]

A) S ( )
2n
n a l  ~) S [ ( 1) ]

2n
n a n d  

g) an = a + (n – 1)d X) a, a + d, a + 2d

Sum of n terms of an A.P. is -

A) S ( )
2n
n a l  B) S [ ( 1) ]

2n
n a n d  

C) an = a + (n – 1)d D) a, a + d, a + 2d
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vii) g^r g‘~mhþ {Ì ŵO hm|Jo - [1]

A) g‘ê$n ~) gdmªJg‘

g) XmoZm| X) BZ‘| go H$moB© Zht

All equilateral triangles will be -

A) Similar B) Congruent

C) Both D) None of these

viii) EH$ {Ì ŵO Ho$ erf© hmoVo h¡ - [1]

A) 4 ~) 3

g) 5 X) 2

Vertices are in a triangle is -

A) 4 B) 3

C) 5 D) 2

ix) sin2 45º H$m ‘mZ h¡ - [1]

A) 2 ~)
1
2

g)
1
2

X) 3

Value of sin2 45º is -

A) 2 B)
1
2

C) 1
2

D) 3

[ Turn Over
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x) ¶{X 2sec
3

   hmo, Vmo H$m ‘mZ hmoJm - [1]

A) 60° ~) 30°

g) 90° X) 45°

If 2sec
3

   then value of is -

A) 60° B) 30°

C) 90° D) 45°

xi) EH$ ‘rZma H$s C±MmB© CgH$s N>m¶m go 3  JwZm A{YH$ h¡, V~ gy¶© H$m CÞVm§e H$moU h¡ - [1]

A) 30° ~) 45°

g) 75° X) 60°

The height of a tower is 3  times more length of its shadow then the angle of
elevation of Sun is -

A) 30° B) 45°

C) 75° D) 60°

xii) {Ì ŵO Ho$ VrZm| AÝV… H$moUm| H$m ¶moJ hmoVm h¢ - [1]

A) 60° ~) 90°

g) 180° X) 150°

Sum of the interior angle of the triangle is -

A) 60° B) 90°

C) 180° D) 150°
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xiii) EH$ Jmobo Ho$ Am¶VZ H$m gyÌ hmoVm h¡ - [1]

A) 34
3

r ~) 32
3

r

g) 4r2 X) 2r2

Formula of volume of a sphere -

A) 34
3

r B) 32
3

r

C) 4r2 D) 2r2

xiv) ¶{X 5, 7, 9, x H$m ‘mÜ¶ 9 hmo, Vmo x H$m ‘mZ kmV H$s{OE - [1]

A) 11 ~) 15

g) 18 X) 16

If Mean of the distribution 5, 7, 9, x is 9 then value of x will be -

A) 11 B) 15

C) 18 D) 16

xv) EH$ nmgo H$mo ’|$H$Zo na g‘ A§H$ AmZo H$s àm{¶H$Vm hmoJr - [1]

A)
1
3 ~)

2
3

g)
1
2

X) BZ‘| go H$moB© Zht

Probability of even number when a die is thrown -

A) 1
3 B) 2

3

C) 1
2

D) None of these

[ Turn Over
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2) {ZåZ ~hþ{dH$ënr¶ àíZm| ‘| go ghr {dH$ën H$m M¶Z H$a CÎma nwpñVH$m ‘| {bI|o& >

Choose the correct option from the following multiple choice questions and write them
in the answer-book.

i) d¥Îm Ho$ joÌ’$b H$m gyÌ hmoVm h¡ - [1]
A) r2 ~) 2r

g) 3


X) 2r2

Area of circle is-

A) r2 B) 2r

C) 3
 D) 2r2

ii) EH$ R>mog AÕ©Jmobo H$s {ÌÁ¶m 7 cm h¡& BgH$m gånyU© n¥îR>r¶ joÌ’$b hmoJm - [1]
A) 208 ~) 308

g) 108 X) H$moB© Zht

Find the total surface area of a solid hemisphere of radius 7 cm.

A) 208 B) 308

C) 108 D) None

iii) EH$ {g³Ho$ H$mo ¶mÑÀN>¶m CN>mbm OmVm h¡ Vmo nQ²>Q> (Tail) AmZo H$s à{¶H$Vm ³¶m hmoJr? [1]

A)
3
2

~)
1
2

g)
3
4

X)
2
3

A coin is tossed randomly. What is the probability of tail?

A) 3
2

B) 1
2

C) 3
4

D) 2
3
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iv) A{YH$ H$moU hmoVm h¡ - [1]

A) 90° go H$‘ ~) 90°

g) 90º go A{YH$ d 180° go H$‘ X) 180° go A{YH$

Obtuse angle is -

A) less than 90°

B) 90°

C) more than 90° and less than 180°

D) more than 180°

v) ‘yb {~ÝXþ Ho$ {ZX}em§H$ hmoVo h¡ - [1]

A) (0, 0) ~) (0, 1)

g) (1, 0) X) (1, 1)

Co-ordinates of origin is -

A) (0, 0) B) (0, 1)

C) (1, 0) D) (1, 1)

IÊS>> - ~

SECTION - B

3) ¶{X {H$gr g§»¶m H$mo ( 0)p q
q

  Ho$ ê$n ‘| Zht {bIm Om gH$Vm h¡, dh g§»¶m H$hbmVr h¡ - [1]

A number is not written in the form of ( 0)p q
q

  is called-
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4) ‘mZ kmV H$s{OE - [1]

tan 45° cot 45°

Find the value -

tan 45° cot 45°

5) g§»¶m 210, 55 H$m ¶wp³b‹S> {d^mOZ {d{Y Ûmam ‘hÎm‘ g‘mndV©H$ (HCF) kmV H$s{OE& [1]

Find the Highest Common Factor (HCF) of number pair 210, 55 by the Euclid
division lemma.

6) ¶{X Xmo g§»¶mAm| 306 Am¡a 657 H$m ‘hÎm‘ g‘mndV©H$ 9 hmo, Vmo BZH$m bKwÎm‘ g‘mndV©H$ kmV H$amo& [1]

If HCF of two numbers 306 and 657 are 9, then find their LCM.

7) AnZr BÀN>mZwgma Xmo g‘ê$n AmH¥${V¶m± ~ZmAm|& [1]

Draw two similar figures as you wish.

8) 6 go‘r {ÌÁ¶m dmbo EH$ {ÌÁ¶mIÊ‹S> H$m joÌ’$b kmV H$s{OE {OgH$m H$moU 60° h¡& [1]

Find the area of the sector of the circle whose radius is 6 cm and angle subscribed
to the centre of the circle is 60°.
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IÊS>> - g

SECTION - C

9) sin 60° cos 30° + sin 30° cos 60° H$m ‘mZ kmV H$s{OE& [2]

Find the value of sin 60° cos 30° + sin 30° cos 60°.

10) bå~r {d^mOZ {d{Y Ho$ {~Zm ~VmB¶o {H$ n[a‘o¶ g§»¶m 
17
8  Ho$ Xe‘bd àgma gm§V h¡ ¶m Agm§V Amd¥{V h¡&

[2]

Without actually performing the long division state whether the following rational

numbers 17
8  will have a terminating decimal or a non terminating repeating decimal

expansion.

11) lo‹T>r 1, 2, 9, 27...... ³¶m g‘mÝVa lo‹T>r h¡ ¶{X g‘mÝVa lo‹T>r h¡, Vmo CgH$m gmd©AÝVa {b{IE& [2]

Is series 1, 2, 9, 27...... a A.P.? If it is Arithmetic Progression then write their
common difference.

12) {ZåZ{b{IV ~maå~maVm ~§Q>Z go ~hþbH$ H$m g§§JV dJ© kmV H$s{OE - [2]

dJ© 10-20 20-30 30-40 40-50 50-60 60-70

~maå~maVm 6 20 44 26 4 1

Find the modal class of the mode of the following frequency distribution table.

Class 10-20 20-30 30-40 40-50 50-60 60-70

Frequency 6 20 44 26 4 1

[ Turn Over
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13) {H$gr H$maU 12 Iam~ noZ 132 AÀN>o noZm| ‘| {‘b JE h¡, Ho$db XoIH$a ¶h Zht ~Vm¶m Om gH$Vm {H$
H$m¡Zgm noZ Iam~ Wm ¶m AÀN>m h¡ Bg‘| go EH$ noZ ¶mÑÀN>¶m {ZH$mbm OmVm h¡ {ZH$mbo JE noZ Ho$ AÀN>m hmoZo
{H$ àm{¶H$Vm kmV H$amo& [2]

12 defective pens are accidentally mixed with 132 good ones. It is not possible to
just look at a pen and tell whether or not it is defective. One pen is taken out at
random from this lot. Determine the probability that the pen taken out is a good
one.

14) {~ÝXþAm§o (2, 7) Am¡a (8, 5) H$mo {‘bmZo dmbo aoImIÊ‹S> Ho$ ‘Ü¶ {~ÝXþ  P Ho$ {ZX}em§H$ kmV H$s{OE& [2]
Find the co-ordinate of mid point P to joining the points (2, 7) and (8, 5).

15) {ÛKmV g‘rH$aU x2 –3x – 10 Ho$ ‘yb kmV H$s{OE& [2]
Find the roots of the quadratic equation x2 –3x – 10.

IÊS>> - X
SECTION - D

16) 52 nÎmm| H$s AÀN>r àH$ma go ’|$Q>r JB© EH$ JS²>S>r ‘| go EH$ nÎmm {ZH$mbm OmVm h¡ {ZåZ{b{IV H$mo àmá H$aZo H$s
àm{¶H$Vm kmV H$s{OE- [3]
A) EH$ ~mXemh
~) EH$ ~oJ‘
g) EH$ Jwbm‘
One card is drawn from a well shuffled deck of 52 cards. Find the probability of
the following that the card
a) A King
b) A Queen
c) A Jack

17) {H$gr e§Hw$ H$s T>mby ({V¶©H$) bå~mB© 5 go‘r h¡ VWm C§MmB© 4 go‘r h¡ Vmo CgH$m ì¶mg {b{IE& [3]
Find the diameter of a cone whose slant height is 5 cm and height 4 cm.
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18) 8 go‘r bå~m aoImIÊ‹S> It{ME Am¡a Cgo 1:3 AZwnmV ‘| {d^º$ H$s{OE& [3]

Draw a line segment of length 8 cm and divide it in the ratio 1:3.

19) a¡{IH$ g‘rH$aU ¶w½‘ H$mo AmboIr¶ {d{Y go hb H$s{OE - [3]
Solve the pair of linear equations graphically.

3x + 2y = 12

5x – 2y = 4

20) cosec245° sec230° sin290° cos260° H$m ‘mZ kmV H$s{OE& [3]
Find the value of cosec245° sec230° sin290° cos260°.

21) {gÕ H$s{OE {H$ tan 48° tan 23° tan 42° tan 67° = 1. [3]
Prove that tan 48° tan 23° tan 42° tan 67° = 1.

22) EH$ ‘rZma j¡{VO g‘Vb na CÜdm©Ya I‹S>r h¡, ¶{X gy¶© H$m CÞ¶Z H$moU 30° h¡ Am¡a ‘rZma H$s N>m¶m H$s
bå~mB© 45 ‘rQ>a hmo, Vmo ‘rZma H$s C±MmB© kmV H$amo& [3]
A tower stands vertically on the ground. From a point on the ground which is 45
meter away from the foot of the tower, the angle of elevation of the top of the
tower is found 30°. Find the height of the tower.

IÊS>> - ¶

SECTION - E

23) EH$ nhm‹S>r H$m T>bmZ j¡{VO go 60° H$m H$moU ~ZmVm h¡& ¶{X {eIa VH$ nhþ±MZo ‘| 500 ‘rQ>a MbZm nS>Vm h¡&
Vmo nhm‹S>r H$s C±MmB© kmV H$s{OE& [4]
The slope of a hill makes an angle of 60° with horizontal. If to reach at top, 500 m
distance have to covered then find the height of the hill.

AWdm/OR

[ Turn Over



14

S–125–Mathematics (D&D) 1215

gH©$g H$m EH$ H$bmH$ma EH$ 20 ‘rQ>a bå~r S>moa na MT> ahm h¡ Omo AÀN>r Vah go VZr hþB© h¡ Am¡a ŷ{‘ na bJo
I§̂ o Ho$ {eIa go ~§Ym hþAm h¡& ¶{X ŷ{‘ ñVa Ho$ gmW S>moa Ûmam ~Zm¶m J¶m H$moU 30° H$m hmo Vmo Iå ô H$s
C±MmB© kmV H$s{OE&

A circus artist is climbing a 20m long rope, which is tightly stretched and tied from
the top of a vertical pole to the ground. Find the height of the pole if the angle
made by the rope with the ground level is 30°.

24) ¶{X {~ÝXþ (7, 2), (5, 1) Am¡a (3, k) g§aoI h¡ Vmo k H$m ‘mZ kmV H$s{OE& [5]

Find the value of k for which the points (7, 2), (5, 1) and (3, k) are collinear.

AWdm/OR

Cg {~ÝXþ H$m {ZX}em§H$ kmV H$s{OE Omo {~ÝXþAm| (3, 2) Am¡a (4, 5) H$mo {‘bmZo dmbo aoImIÊ‹S> H$mo 2:3 ‘|
AÝV!  {d^m{OV H$aVm h¡&

Find the co-ordinates of the point which divides the join of (3, 2) and (4, 5) in the
ratio 2:3.

25) {ZåZ{b{IV ~maå~maVm gmaUr H$s ghm¶Vm go “go H$‘” àH$ma H$s g§M¶r ~maå~maVm gmaUr ~ZmE§ - [5]

àmám§H$ 0-10 10-20 20-30 30-40 40-50

N>mÌm| H$s g§»¶m  7 14 11 15 8

With the help of the following frequency table prepare a cumulative frequency
table of the type “less than”.

Class 0-10 10-20 20-30 30-40 40-50

No. of Students  7 14 11 15 8

AWdm/OR
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{ZåZ ~maå~maVm ~§Q>Z H$m ~hþbH$ kmV H$s{OE&

C±MmB© go‘r ‘| 52-55 55-58 58-61 61-64

N>mÌm| H$s g§»¶m 10 20 25 10

Find the mode of the following frequency distribution.

Height (In cm) 52-55 55-58 58-61 61-64

No. of Students 10 20 25 10

26) EH$ {Ì ŵO ‘| AB = 7 go‘r, BC = 6 go‘r, AC = 5 go‘r H$s aMZm H$s{OE {’$a BgHo$ g§JV EH$ AÝ¶

{Ì ŵO H$s aMZm H$s{OE {OgH$s ŵOmE§ {XE hþE {Ì ŵO H$s g§JV ŵOmAm| H$s 
3
4

 JwZr h¡& [5]

Construct a triangle of sides AB = 7 cm, BC = 6 cm, AC = 5 cm and then a triangle

similar to it whose sides are 3
4

 of the corresponding sides of the first triangle.

AWdm/OR

{ÌÁ¶m 5 go‘r H$m EH$ d¥Îm It{ME BgHo$ Ho$ÝÐ go 8 go‘r Xÿa {~ÝXþ go d¥Îm na EH$ ñne© aoIm ¶w½‘ It{ME&

Draw a circle of radius 5 cm from a point 8 cm away from its centre. Construct the
pair of tangents to the circle.


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